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SECOND YEAR HIGHER SECONDARY SECOND TERMINAL 
EVALUATION, DECEMBER 2018 

Part-III 
ECONOMICS 

Maximum : 80 Scores 

General Instructions to Candidates: 

Time: 2½ Hours 
Cool-offTime: 15 Minutes 

• There is a 'Cool off time' of 15 minutes in addition to the writing time of 2 ½ hrs. 

• You are not allowed to write your answers nor to discuss anything with others during 
the 'cool off time '. 

• Use the 'Cool off time' to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 

• All questions are compulsory and only internal choice is allowed. 

• When you select a question, all the sub-questions must be answered from the same 
question itself. 

• Calculations, figures and graphs should be shown in the answer sheet itself. 

• Malayalam version of the questions is also provided. 
• Give equations wherever necessary. 

• Electronic devices except non programmable calculators are not allowed in the 
Examination Hall. 

oJ1BJOi6cau:i1dbci6c86')6U 6)nJOan~m1mai(!Cll)6'1Bci6 : 

• mlro~~s 2 ½ m6ffilc&6)JCD crumcwmm Cl..l606)12l 15 mlml§' 'ci7J~W 63:>o.O 6)6)S0' ~6T@ocwlc6lc&6)6o. 

• ~ro crumcw(m) a.!l.l0<3j611T3Wc66) ~cm>mo ~y-£>6®oamo, m~rum6mocwl (U'@)C/OWnJlmlmcn,o 
mscm>oamo n.Josl~. 

• ~cm>ct>611T3cib n@l-£>6®6(T'T)mS!m ~mJ <J.!l.J0<3j611T3cib @)(3.l)O~ro(lJo ruocwlc&6)6mo. 

• ~:, <J.!l.J0<3j611T3Wc&6)6o ~cm>ct>o nffi1-96®6mo. 

• 63ct>6 <J.!l.l0<3jffimJCD ~(m)Cb6)Ql1-£16®om> 6)(lf)C{)6)6rO"fmS6cm>6 ci7Jl916T"O"mo~ ~n.J<J.!l.l0<3jm3§!,o <m<J® 
<3.!l.l 0(3 jffiffiJ <6l<do ml mi' (If) 6)(T'T) 6)(lf)C{)6)6rO"fmS6 (3c&6)6T@(lf)06m. 

• ci7J6mc66) ci7J~§e.J6ci7Jcib, ..o.JlL®611T3W, l(J)O~ci7Jcib, officmlru ~cm>Cb<SCl..lc;cjdl~ ®6lrm ~6ll8ocwlc6lc&6)6mo. 

• <:.!lJ0(3j6mW Qle.JCWO~cm51e.J6o m~ci7J1cwl~6Tl'i 

• CG'@>OJCIOJ~ CTU.Oe.J(m) crumruOd7Jj611T3W 6)ci7JOS6c&6)6mo. 

• aLn.JOl(J)O~c£hcib 6).!l.J~omod7Jocm> ci7Jocd&c006ae.iAq~ce,cfb 63'916lci7JCW~ 63~6 ~eJaL&eo61151ce;' 

~n.Jd7JCb6TT>C1.Jl,o n.Jmic&dlon00~ <do ~n.Jacwoct5lc006ruocro Cl..Josl ~-
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Score 
Questions from 1-9. Attend all 
questions. Each carries 1 score. 

(9x1=9) 

1. The break-even point of a firm is 

a) MinimumAVC 

b) TR=TC 

c) SAC=SMC 

d) None 

2. Which is a macro economic variable? 

a) Price of output of firm 

b) Supply of firm 

c) National output 

d) All 

3. m.p.c. of an economy is 0.4. Then it's mps 
1S 

a) 0.16 

b) 0.8 

c) 1.4 

d) 0.6 

4. When the demand curve is rectangular 
hyperbola the value of elasticity is 

a) One 

b) Greater than one 

c) Less than one 

d) Zero 
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Score 
1 IJldand 9 ru6>ma»d@i n©IO CUJOBJ6UBcibcK>Ao 
t(ffl)mo nQ)'llanldh, eOQl('l)Ocm1mJo 1 QIO]?Oc& 

nJlano. (9xt=9) 

1. 63<n6 cruomo@®'DSl6l~ eio@-m~mndlcm 6n.1lcl36 
ffllP)cfh6rm<m 

a) AVC(ll.166ls mlmlaio 

b) TR=TC 

c) SAC= SMC 

d) mru6l(ll.lorm6m~ 

2. n@an061T> <TUDJe.l CTl)Om.J®'DSJdb ..!l.J<Oo ? 

a) cruomo@®'DSl6l~ ~ar&<;tj<m rule.1 

b) 63<n6 cruomo@®'DSl6l~ to.Jaomo 

c) aau61(ll.l ~ar&<;tj<mo 

d) ~oo 

3. 63<n6 cru<ruauruJruOUDmil6leJ m.p.c.= 0.4. 
"®6l6Tl)ablam CUJl)mSJ6)~ mps 

a) 0.16 

b) 0.8 

c) 1.4 

d) 0.6 

4. C..!l.l0'3ffiQJlc&o 6)0ctOCTO(J)6eJm 6)6)n0<;tjln (36llJ0i 
Ci©)c&6cmuocJl> me.1o<W1c&cmWJ66lS ~eJJo 

a) 63(TT) 

b) 63cmlar& ~s6 cmcd& 

c) 63cmlcd& c&6oru 

d) ~~Jo 

SSE 35 Economics 2/7 



1 IIIIRll lllll llll 111111111 11111111 

Score 
5. Which is real aggregate monetary 

resources of India ? 

a) M, 

b) M2 

c) M3 

d) M4 

Fill in the blanks : 

6. NNP + Depreciation = ___ _ 

7. In a centrally planned economy all 
economic problems are solved 
by __ _ 

8. A market is in equilibrium when 

9. A firm is a 'price maker' under 
market. ----

Score 
5. ne3cmo6m ~rtmjcml6)eJ WLOO«><UlO 6>a>O<m>o 

nJ6ll) atcruocmq;\f ? 

a) M, 

b) M
2 

c) M
3 

d) M
4 

6. NNP + acmwaiomo = ----

7. 6'3m6 ace,tm1ce,~cm Ctt©CTU,t®1® crum.rn" 
nJjrucru.ocmlrn'n ~o cruocrucmSle& tnJ~6m~o 
nJalln.O<lllcB6WTnrm' ____ ~6>SW06m. 

8. 63 m 6 e& a cru o ~ o cru m\! ell ® o ru cruo <D>1 rn'n 

n(j)cm>6cmcm ---~ruou.o<nlleJ06TT). 

9. 63m6 cruomolio 'nJlei m1~<nllc006cmruomo 
e&6cmcm"' ____ e&acruo~rieJ06TT). 

Questions from 10-14. Answer all 10 ~<ID<d& 14 OJMCD.lclll ~iJO G.AJOBJR13~do 
questions. Each carries 2 scores. (5x2=10) 1~ ~"d<IDd•· eoamocmlmdo 2 CB<'fl?Oi& nJlaDo. 

(5x2=10) 

10. Explain the concept of 'liquidity­
trap'. 

11. q
0 

= 200 - p ; qs = 120 + p in a 
market. Calculate equilibrium price and 
quantity. 

12. Explain central economic problems of 
an economy. 

l O. 'tBru cm J6)«006T'Ol 'Clij)<m (tt©Cll)W6)cm> 

nJlru <6lc006e&. 

11. q
0 
= 200-p; qs = 120 + p Clij)<m06)6ll)ablafn 

e& a cru o ~ cru mn 6 ell cm nJl ei m, 6 o am,~ ru6 o 
G8)06ll)6G8). 

12. 63 m6 cru cru B" ru j ru cruo <D>1 6) e.i ~ s1 cruo om 
cruocrucmSle& tnJ([,q6mci6 nJl(Jl)~e&allc006~- · 
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13. Explain the concept of 'Paradox of 

thrift'. 

14. Mention the main features of Great 
Depression 1929. 

Questions from 15 to 21. Answer any 

six questions. Each carries 3 scores. 
(6x3=18) 

15. Suppose the price of output of a firm 

rises from t 25 to t 50. Its supply 

also rises from I 00 units to 120 units. 

Calculate price elasticity of supply. 

Comment on the result. 

16. The cost curves of a firm is given 
below. 

Cost 

a) Correct the figure. 

b) Explain the relations between the 
curves. 

0~ ut 

17. What is fiscal policy ? What are its 
objectives ? 

18. C = 150 + 0.2Y, I = 200 Calculate 
equilibrium output of the economy. 
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Score 

13. 'm.>mJOBJ o.Jlamoux><i:><YU01
0(D<m CIJ10C/OW>o 

oJ1 ru<6lca6)6cfb. 

14. 1929 6)eJ mnnm-oocw <YUocrumc& m:>mJcmS16l~ 

ln.JaClfl JcEbClflcEbc.il> ~J6ralc:0006Tlilc006'8-J. 

15 ~CISl<n 2lnJ6l(l)CIVAift GI.A.IOBJABgical n(DQ<U> 

lhl~o ~6l06l.);l~1m tcm>(l)o mcd6~db. QOGICbO 

cmlm6o 3 <3Cfl?Om n]cmo. (6xJ=l8) 

1 S. 63m6 cruomoticmSl6l~ ~cor,~rm n.llei 25 <llJn.Jcml~ 

mlmi' 50 mJoJwocoJl rumBJ.S1c006rm6• mll>cml6l~ 

loJBOmo I 00 WJ6ffilAJ~ mlmi' 120 a»J6TlilR:>cml 

ru&aul .. !3!j0cda loJ<30mcm516l~ n.llei ~eiocwJdhC!S> 

cfb06ID6cfb. ~(m)(l)6)(m) c&6o1~" mll>t'!flln.JOWo 

oJOW6c&. 

16. 63m6 cruo<no13cm516l~ 6l~e.Jru" rutc&6lJBcJo C!S>cml 
c61ca6)tmJ. 

a) .!l.11 L Clflo uornl woc:006 c£b. 

b) n.JlcEbm3cio Clflcmfl~ 6YllmJJ6lJBc.il> 

nJln.J~ca6)6cfh. 

17. Clffiml'>06TT> c..umma»o ? mll>cml~ e.Jc&mJ61fBC,% 

Clffi6lml'>~Oo ? 

18. C = 150 + 0 .2Y, I = 200. <YU mJ 0" ru J ru cru.o 
cwl6le.J crumn6e.flC!S> ~cor,~rmo c&:>61T>6c&. 
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19, Distinguish between short run and long 

run supply curve of a finn. 

20. List out the main features of an 
indifference curve. 

21. Describe the market equilibrium of 

finns with free entry and exit. 

Questions from 22-25. Answer any three. 
Each carries 4 scores. (3x4=12) 

22. Describe the major determinants of 
finn 's supply curves. 

23. Explain the major functions of money. 

24. NDP Fe = 1200 crores ; Depreciation 
= 100 crores ; Net indirect tax = 200 

crores ; Net factor income from abroad 

= 150 crores. 

Calculate: 

a) GDP mp 

b) NNPmP 

25. Compare tax multiplier and government 

expenditure multiplier. 

Score 

19. em6 m.>omo@d6)'V{ tnnm>,JdbOeJ cjlrollQlcfbOeJ 

lnJC30m C'Ulcfbrn36)~ C'UJCll)JOm.>6)',l:j~wrn>6cfb. 

20. 63'°6 ml'™o(J)Cll)O C'Ulcfbd6)'V{ tnJamJcfbCl!lcfb6l~ 

en~ 6)~~cfb. 

21. m.>omo<imci&~ CU'!P)(J)tllffi-mlro(J)tllffi m>.,P<mtmnJ 

m6 ~ db a mJ o ~wro16"> e.i cro mn6e!l mo ru cruo 

n.f1 ~(3tll0c86)6cfb. 

22 ~mai 25 Cl.J6>Rl<D.IAl}l G.QJOBJABglai nQ36><D> 

•1~o mi6lnn6J.Wffl)1m l<ffl>Rlo mai•A•· eoaa,o 

nn1mAo 4 GCll?Oi o.Rano. (3x4=12) 

22. m.>omo@mml6)~ lnJeom ClJlcfb6)wrn> mlm~caSl 

c&6>6nll ne.1Scfbrn36)i n.f1CJ'l)l3Ql0c&6>Jcfb. 

23. nJ6ID<m5J6)~ lnJWOffi6)';tj3 wroamrn36)~ 

n.flru<61c86)6cfb. 

24. ND P F C = 1200 acfbOsl ; amavmomo = 100 
(JcfbOsl ; am, A nJ (J (0 0 ~ ml cfbJ an'l = 2 0 0 
acfbOsl ; nllaC3~wrn>6 m]('TT)~ CUlllAllQIScfb 

rum6momo = 150 acfbosl • 

a) GDPm 
p 

b) NNPmP 

25. m1cfb6an'l (/)66IDcfbClJ60 m.>mc86)0© 6)~eJru" 

(J)66IDcfbru6o Cll)0(l)Cll)Qljo 6l~~cfb. 

SSE 35 Economics 5/7 



• 
Score 

Questions from 26-29. Answer any three. 

Each carries 5 scores. (3x5=15) 

26, In the long run a competitive firm earns 
normal profit. Do you agree ? Explain 
with figure. 

27. m.p.c. of three states are given below. 

States 

Kerala 

Bihar 

U.P 

a) Find output multiplier in each states. 

b) Find the effect on output of the 
economy when the government 
expenditure increases Rs. 100 crores 
in each state. 

28. Describe the features of a monopoly 
market. 

29. Complete the table and draw TP, AP and 
MP on the same set of axis. 

L I 2 3 4 

Tp 10 22 36 48 

AP 

MP 

5 

55 
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26 mJU 29 ru&>ct1a»JU ~Ot3JA11i1m& O{B6>aDll>1&Jdo 
Q)J6ltm'taCffl>1m' f2CU'mctlo mm&ce,6ce,, SOGlctlO(ll')1m6o 

S aci:eoi& nll~o. (3 x 5= 1 S) 

26. sm6 o .. uo'lnJ,«>'m mcd3m>m m>om0110 rflmnei 

c:e,oeicw~nllcd3 m>owom6TT> e.io110 ams6nn6. 
aavodlc006cm6aruo ? ..a.fl l(l!)m>ndl (l!)o 

nJlrumlc006c:e,. 

2 7. ~rm cruocrunomm3~6)eJ m. p.c. (l!)c-rnJ(6JG06)6nn6. 

mpc. 

0.8 

0.3 

0.4 

a) 630cmo cruocrunomcm>16'leicw6o ~cd3i:clcm 
006 6TT>cfbo cfb06TT>6cfb. 

b) 630Cmo cruocruaom6'lcm>w6o cruibc00006ce,cil> 
1 QQ CcfbOsl<OJn.J rul<mo 6'>..!l.JeJ(lJ OJ«>Bl.SJ~ 
41 ocdo 01.)ffij BnJJClJmlllCWJ6>S ~cdo'J:l cmmml 
~6Tl'sO<fbfTn m::>Ro cfb06m6ce:,. 

2 8. d➔.>6mmc:e, c:e,a ffiJ o~rnml 6>~ crun.Jl a Ul)o!I ~d➔.icio 
nJ1 C/l) (3 Q.l O c006 c:8, . 

29. nJ§ld➔.i o.JJ«>rnmlcwoce6Sl TP, AP, MP ommilru 

6'3Q(0 cm?!&::16>Cffl> ~CJ;g<3Q.lOce6SJ ClJ(l)~cfh. 

6 7 8 

60 60 56 
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Questions from 30-32. Answer any two. 
Each carries 8 scores. (2x8=16) 

30. Prepare a chart to present the 

budget components. Explain the 

components. 

31. Describe major monetary policy 

instruments of RBI to control 
inflation. 

32. Describe the applications and impacts 

of market equilibrium analysis with 

suitable diagrams. 

(Hints : Price ceiling and price 

floor). 

Score 

30-32 nJ6lRl(WJU Q.QJOBJ6mj1m& n@6lCU>lb1eJJO 
Rl6l6ni6W<UYU>1m" 1cummo n(j)'IACU>A•· eoamo 
cm1mAo 8 GCYJi?Oi& nffCU>o. (2x8=16) 

30. 6ll.lCW!YIIA ne.JScfb6m6)~ cfb06'nilt66)6CTT) .!l.JO«l3 

Cl!)~000t66)6cfb. ne.JScfb6m6)~ rulrumlt66)6cfb. 

31. nJ Gm6) c;8 ro6 c;8 6) cmi ml C!l>l mrll c:66)6 cmml mocwl 

RB I ~n.J a wocril c:66)6 cm nJ Gmmw ~n.Joufl 

cfb6)~ o..fl ~(3Q'l0t66)6cfb. 

3 2. db a mJ o ~ m> cm 6 efl ® o ru cruo o nJ l cn LO m 
cumJ6)1 ln.lO<:C!l>0001cfbCU>cibfilO n.J(l)1Gm® 

n!l etlimm o .!l] tCU>cm>16)1 m>nnow<m>om& 

o..fl~Blll0dM>3cib. 

( au1.QJm : 6)6)ln.Jm>" croieflooo", 6l6lln.Jm>" 

c~om). 
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